Board 1 & K1098

North Deals v 94
None Vul ¢ J4
& AQ986
& AQJ5 N 6 732
v5 W e vy AK762
¢ A108752 ¢+ KQ3
a74 S . K2
& 64
v QJ1083
¢ 96
& J1053
EW 4N; EW 44 ; EW 5¢ ; EW 2v; NS 1&: Par —430: EW 3N+1
West North East South
Pass INT Pass
2% Pass 2y Pass
3¢ Pass 3NT All pass

It iscommon for hands with a5 card major and balance 15-17 pointsto open 1 NT. If East opens
1v,West will respond 14 then hows does East show their strength ? Rebidding 1 NT only
shows 12-14 balance, if East rebids 2 NT that will shows 18-19 balance, you can solve this
problem by just opening 1 NT. West will Stayman then bid a natural and game forcing 3 ¢
which will aso imply four spades. East will settle for 3NT and has nine top tricks, likely atenth
aswell. Note 12 tricks could happen on the expected heart lead if East tries the spade finesse and
wins the club return from North.



Board 2 o KQ53

East Deals v K542
N-SVul ¢ —
& AKQ72
o AJB76 N a2
v QJ W e v A109763
¢ QJ1082 ¢ K73
P S 4 865
& 1094
v 8
¢ A9654
& 10943
NS4%: EW 2y ;W 2¢ ; S1a; E 1¢ ; Par +130: NS4%=
West North East South
2v Pass
Pass 3% All pass

Without any diamonds north lacking a enough values to double(v K is suspect) and bid 4 &
North will haveto settle for ameasly 3#. If East starts a spade then the defense will cometo

three tricks. Note ageneral ruleisthat if a preempt leads another suit it strongly impliesa
singleton.



Board 3
South Deals
E-W vul

& K10943
v K2

¢ AJ85

& Q2

a7
v Q3
+ Q103
£ KJ109864
m * AB6
v AJ104
W ENrery
Sl L 73
s QJ52
v 98765
+ 94
& A5

EW 44 EW 44 ; EW 2v; NS 1%; Par —620: EW 44 =

West North East South

Pass
1e 3% 4 & Pass
44 All pass

4 % by East shows a spade raise with an opening hand and does not promise any club control.
The key to the play will be a safety play in the spade suit. After playing a spade to the ace and
second spade West should insert the ten. The premise being if spades break 3-2 declarer will till
have only one spade loser, however if spades are 4-1 then by inserting the# T declarer will aso
have only one spade |oser.After the doubleton v Q shows up West should be able to pitch two
diamonds on the J&T of hearts avoiding the losing diamond finesse.



Board 4
West Deals
Both Vul

3

vy AK8652

¢ Q

& A10763
& QJ52 N o K1074
vy Q1073 W e v9
¢ 6542 ¢ A108
& Sl . K9852

o A986

v J4

¢ KJ973

* Q4
NS3v: NS2N; N 3%: S2&: EW 14: NS 1¢ ; Par +140: NS 2v +1
West North East South
Pass 1lv Pass 1le
Pass 2% Pass 2NT
Pass 3v Pass 4v
All pass

South will make anatural invite with 2 NT and north will bid 3 ¥ to show a 6th heart which
South will raise to game. East has aterrible lead options and will likely opt for a 4th best spade.
Anything north tries will end in failure and the contract will go down 1 or 2.



Board 5
North Deals
N-SVul
& J75
v 72
¢ AKJ543
& J6

4 832

v J3

¢ Q7

& AK8752

N & AK
W e v A109654

¢ 982
Q3

4 Q10964

vy KQS8

¢ 106

& 1094

EW 3v; EW 4¢ ; EW 1IN; NS 14 ; NS 1&; Par —140: EW 2v +1

West

North
3%

East
3v

South
All pass

Most preempts will have arange of 5-10 HCP and sometimesiit is ok to be at the top of the
range. East will overcall 3¥ and will have to guess the diamond queen to make their contract.



Board 6 & AQ95
East Deals v 10654
E-W Vul ¢ A82
Q6
& K7643 N & J2
v 93 W E v KQJ87
¢ 109 = ¢ Q63
& 10542 & J73
& 108
vy A2
¢ KJ754

& AK98

NSG6N; NS6¢ ; NS44 ; NS5%; NS3v; Par +990: NS 6N=

West North East South

Pass INT
Pass 2% Pass 2¢
Pass 3NT All pass

South has horrible shape for 1 NT but if they open anything but 1 NT their rebid will hide the
strength of the hand. North will check for a8 card major suit before bidding 3NT. West will start
with a 4th best spade and South will have alot of merit to pop the ace in order to avoid a heart
switch if the spade finesse loses. It should be noted that South can always lead up to spade later
in the hand with more information, also West could pop the king. South will likely cometo 11
tricks and possible for 12 if they guess the hand right.



Board 7 o KQ10654

South Dedls v K2
Both Vul ¢ AK109
& 10
o A72 N & 3
vy AQ105 W e v J98643
¢ 763 s ¢+ Q8
& Q95 & AJ64
s J98
v 7
¢ J542
& K8732
NS 44 ; EW 3v; NS2¢ ; NS 1&; Par +500: EW 5v x—2
West North East South
Pass
1% le Dbl Pass
2v 24 3v 34
Pass 44 All pass

Some West second seat vulnerable might chose to pass the West hand created a different auction
but most roads will lead to North/South playing in 4 # . North has only 15HCP but also holds a 4
loser hand and will hope that south can cover one of them. Almost all declarers will take the
diamond finesse and go down 1. East might be tempted to competeto 5 with a suspected
double fit and the extra shape but it is unlikely West can cover all of east losers on a minimum
opener and their side should have decent chances at defeating 44 .



Board 8 & KJ7
West Deals v A92
None Vul ¢ 542
# J1032
4 86543 N 4 Q109
v 7653 WS v Q4
¢ KJ7 ¢ AQS83
46 =B . 09384
o A2
vy KJ108
¢ 1096

& AK75

N 4v: NS3N; S3v; NS3s: EW 14 : NS 1¢ : Par +420: N 4y =

West North East South
Pass Pass 1e¢ Pass

1le Pass INT Dbl

2v Pass 24 All pass

After East opens 14 inthird seat , South has no bid and will have to pass with their 15SHCP. An
aggressive West will try to find amgjor suit fit at matchpoints and end up in 24 while those that
pass will find their partner playing 1 ¢ . In 24 therewill likely be 7 total losers, 3 spades, 3

hearts, 1 club, West might be able to dodge 1 loser if North/South fail to break the heart suit in
time.



Board 9 4 QJ83

North Deals vy —
E-W Vul ¢+ AKQJ1062
& A2
o AK1096 N & 754
v KJ52 W £ v 763
¢ 3 ¢ 854
& QJ4 Sl . 38753
a2
vy AQ10984
¢ 97
& K1096
NS6¢ ; NS5N; NS4v; NS 24 ; NS 3#; Par +920: NS 6¢ =
West North East South
1e¢ Pass lv
le 3NT All pass

North picks avery nice hand while only 17 HCP it has 8 top tricks in notrump. While the auction
will start routine North faces has a very awkward rebid. Rebidding 34 is selling the hand short
and partner will rarely have a spade stopper to bid 3NT, 2 NT would imply 18-19 balance,
cuebidding 2 4 would sound like a heart raise, and jump shifting into 3% describes the strength
of the hand but it is undesirable to jump shift into a 2 card suit.

Thisisthe rare hand that will unilaterally jump and try to bid the game they think they can make.
South might be tempted to correct to 4 ¥ but the jump to 3NT screams to sign off to partner
desecration as there was alot of bid in between they could have made.



Board 10 o KQJ53

East Deals v Q6
Both Vul ¢ Q8753
&5
4 10962 N o A74
vy AJ954 W £ vy K32
¢ AK ¢ 1092
483 S . KQJ6
4 8
v 1087
¢ J64
& A109742
EW 4AN; EW 4v ; EW 24 ; E 3&; W 2&: NS 1¢ ; Par —630: EW 3N+1
West North East South
1 Pass
1lv 1la Dbl Pass
4v All pass

1. Support double
If East/West are not playing support doubles they should still have methods to find an 8 card
major suit and play in 4 v . Unless West make the brilliant guess playing North to hold ¥ Qx they
will godown 1in4 v, losing two spades, one heart, and one club. Those that find themselves

playing in 3NT will find alucky make on a spade lead claiming 4 hearts, 2 diamonds, 2 clubs
and one spade.



Board 11 o5

South Dedls v 63
None Vul ¢ QJ9852
8763
s 64 N & QJ9
v AKJ7542 W e v Q109
¢ K43 ¢ A1076
P Sl . A0S
4 AK108732
v 8
¢ —
& KQ1042

EW 4N; EW 4v ; NS5%; NS 24 ; EW 1¢ ;
Par +100: EW 5 x—1; EW 5Nx—1

West North East South
1le

29y Pass 24 4a

5v Pass Pass 54

Pass Pass Dbl All pass

On these distributional hands both West and South will find it hard to pass however the first one
that does will be rewarded with a plus score. These 5 level decisions are some of the hardest
decisions to make in bridge and if you are getting them right 50% of time you are doing well.



Board 12 o A2

West Deals vy 8642
N-SVul ¢+ 1052
& J1064
& J96 N & 10753
v J97 W v A3
¢ KQ87 ¢+ J64
& AKO =Bl . 0853
4 KQ84
vy KQ105
¢ A93
& 72

NS2v; EW 1¢ ; EW 1&; Par +110: NS 2v =

West North East South
1le¢ Pass le Pass
INT All pass

West has only 6 tricks and will likely go down 1.



Board 13 e 74

North Deals vy A1098
Both Vul ¢ 94
® AK752
s 10863 N e AKQ2
v Q7 v = v KJ5432
¢ K82 ¢ 63
£9843 Sl .5
& J95
v 6
¢+ AQJ1075
 QJ10
EW 3v: NS4&: EW 24 ;: NS3¢ : NS 1IN; Par +130: NS 4&=
West North East South
1& lv 24
Pass 2NT Pass 3NT
All pass

North/South will likely land inan 3 NT after both reasonably upgrade their hands to full opening
bids. 3NT depends on the ¢ K being onside but when the finesse fails 3NT will go down.



Board 14 o AJ2

East Deals v AQ64
None Vul ¢ KQJ92
& 10
& 85 N 4 Q43
v KJ W £ v 10872
¢ A1076 ¢ 853
2 KJ972 Sl . A83
& K10976
v 953
¢ 4
& Q654
NS54:NS3v:S3¢;: NSIN; N 2¢; NS1&: Par +450: NS 44 +1
West North East South
Pass Pass
1% Dbl lv le
Pass 2¢ Pass 24
Pass 34 All pass

North with anice 17HCP with a singleton and solid honor sequence with a5 card suit will
upgrade their hand to be worth 18+ points and worth a double and bid. Some holding the south
cards will make afreebid of 14 showing a suit and approximately 6 points. Most roads will lead
to North/South playing in 34 . South hasto be careful to to set up the diamonds for discards

before attacking the trump suit otherwise they will find themselves losing unnecessary club
tricks.



Board 15 & 8532

South Dedls v 1073
N-SVul 642
& AJ32
s KQ64 -t A7
vA9842 [N v )
¢ J9 ¢+ AK8753
& 08 =Bl . 10974
s J109
vy KQ65
+ Q106
& K65

EW 2v; EW 3¢ ; EW IN; EW 2&; EW 14 ;
Par —110: EW 14 +2; EW 1v +1

West North East South

Pass
lv Pass 2¢1 Pass
24 Pass 3¢ Pass
3NT All pass

1. 2/1 Game Force
It should be noted in a 2/1 game force sequence West second bid is not areverse and just shows
4 spades. Depending on partnership style East second bid will either be 2NT, 3% or 3¢ .

East/West will likely end up in 3NT which will make unless the defenders find the heart switch
intime.



Board 16 & J1052

West Deals v QJ62
E-W Vul + K108
&84
a4 4 AK93
v K875 w e
+QJ ¢ 762
4 AQ10953 MEEEE , (572
s Q876
v 943
¢+ A9543
&6

EW 5&; EW 2N; EW 2v; NS 14 ; Par —600: EW 5&=

West North East South
14 Pass le Pass
2% Pass 3NT All pass

Lacking more sophisticated methods east will have to blast to 3NT at matchpoints. 3NT will go
down if North unblocksthe ¢ T otherwise east will have an easy 10 tricks.



Board 17 & QJ752

North Deals v 42
None Vul ¢ KJ
& K1052
4 863 N & AKO9
v A5 W e v K10986
¢+ Q85 ¢ 73
+19874 Sl . A63
& 104
v QJ73
¢ A109642
* Q
W IN; EW 2%; NS1e; EW 1v; NS 1¢ ; Par —90: W IN=; EW 2&=
West North East South
Pass 1lv Pass
INT Pass 2% All pass

North/South will struggle to get into the auction. South should avoid preempting 3 ¢ when
looking at ¥ QJxx. Thelogic behind thisislooking at this heart holding east/west are more likely
to be on misfit which means a preempt is revealing information that is only going to help the
opponents, increases the chances of going for anumber in 3¢ double, and finally this holding is
worth 2 defensive tricks in hearts would be deceiving partner about your potential defensive
strength.



Board 18 & 10864

East Deals v Q109
N-SVul ¢+ Q6
® Q963
& AQ9753 N & KJ2
vy AJ3 W £ v 72
¢+ 9 ¢ J10852
& K54 S . 1072
o —
v K8654
¢ AK743
& AJ8
NS4v: EW 24 : EW 1IN; NS 2¢ : NS 2&: Par +300: EW 44 x-2
West North East South
Pass le
1e 29 24 49
All pass

West will face atough decision at the 4 level but will likely pass 4 ¥ looking at 4+ defensive
tricks (& AQ, v AJx, # K) and partner who has to have some values. South can make 4 ¥
double dummy but will likely go down 1 or 2.



Board 19 o A853
South Dedls v A7
E-W Vul ¢ A6
& KJ963
& K7 N & J104
v QJ65 v =] 7 832
¢ J82 ¢ K10754
& AQ75 s XY
4 Q962
v K1094
¢ Q93
& 104

NS4e: NS2N; NS2v; NS3&; NS 1¢ ; Par +420: NS 44 =
West North East South

Pass
1% INT All pass

The 1nt overcall is from textbook but holding 15-18 HCP and 1.5 stoppers club North does not
have a better bid. There will be alot of variety in the results of 1 NT.



Board 20 & 6

West Deals v J6
Both Vul ¢ A9832
& AQ974
& K10943 N a A72
v 84 W E v AKQ10532
¢ J1064 ¢+ K
*62 S . 105
4 QJ85
v 97
¢+ Q75
& KJ83
EW 34 EW 3v; NS3#%; NS2¢ ; Par —140: EW 3v=; EW 34 =
West North East South
Pass Pass 4v All pass

Norths that open 1 ¢ are making areasonable bid but most auction with east holding 8 top tricks
will endin4 v . Unless East gets lucky 4 ¥ will go down 1.



Board 21 & AJ1085

North Deals v A83
N-SVul ¢ Q2
& K87
4 Q42 N 4 973
v J654 w ElN K 10
¢ AK53 ¢ 764
&2 Sl . AQO64
4 K6
vy Q972
¢ J1098
% 1053
NS IN; NS14;NS1v; N 1¢; EW 1%; Par +90: NS IN=
West North East South
1le Pass INT?
Pass 2% Pass 24
All pass
1. Forcing

North will respond their first three card minor to 1 NT and South will correct to the known 7 card
fit in spades. After anormal looking diamond the defenders should be able to collect 2 high
clubs, 1 club ruff, 2 diamonds and 1 heart to defeat the contract.



